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by # 73,173 172, 294 81,169 91,125 17 - 88
H A B 20, 066 46, 751 21, 324 25,427 35 -32 67
+ = 542 1,324 624 700 0 -1 1
FBAF—TH 222 582 267 315 2 1 1
4BE_-TH 170 391 171 220 -1 0 -1
4BE=TEH 263 647 278 369 6 1 5
4BFMTH 343 864 416 448 3 1 2
4SBERTH 235 606 272 334 1 -1 2
4BAFENRTH 468 1,052 441 611 0 -1 1
Z B = 1,152 2,703 1,228 1,475 -6 -2 -4
FmEEfA—TH 248 603 286 317 3 0 3
mEMA=TAH 151 396 178 218 -2 -1 -1
£/T—TH 488 1,088 475 613 1 -1 2
£/ TFZTH 167 382 177 205 3 0 3
£/ TF=TH 250 544 248 296 -1 0 -1
£/ THETH 329 725 340 385 0 -3 3
£/ THETH 40 93 47 46 0 0 0
£ /J F 19 43 18 25 0 0 0
mAB®—TH 224 427 186 241 1 0 1
RAXZTEH 165 376 170 206 0 0 0
MABR=TH 119 316 154 162 4 0 4
RASMTH 249 582 265 317 -3 -2 -1
INET—TH 144 289 135 154 1 0 1
INETZTH 479 1,203 531 672 0 -1 1
INBT=TH 224 487 223 264 -2 0 -2
KET—TH 435 915 407 508 0 1 -1
KET—TH 557 1,245 564 681 1 -1 2
KET=TH 381 826 372 454 -5 0 -5
KETIUTH 370 965 439 526 0 -1 1
KETRTH 296 692 340 352 -1 -2 1
KETRTH 190 533 243 290 3 1 2
KETETH 81 214 96 118 0 0 0
MARE—TH 443 1, 046 487 559 5 0 5
MARE_TH 440 972 453 519 4 0 4
MARE=TH 624 1,499 703 796 2 0 2
MAREMNTH 267 648 308 340 0 0 0
MARERTH 595 1,404 659 745 3 1 2
MARERTH 473 1,137 549 588 3 -2 5
B AE—TH 505 1,039 473 566 -1 0 -1
HEHEZTH 831 1,786 792 994 0 -1 1
HLEAE=TH 403 880 400 480 2 1 1
HEHERTH 417 939 429 510 11 1 10
Bl Rk HT 563 1,135 491 644 -6 0 -6
£ B H 361 901 409 492 13 -2 15
{EBh—TH 412 1,036 485 551 1 0 1
{EBI—TH 283 675 321 354 4 1 3




#ig Al - BT - FRIOHHEEAO TRk28E12B1HIRE
- " A O W A K

T R i 5 & i | B | aamEm
£E&—TH 351 804 369 435 3 -1 4
EA&ZTH 788 1,699 167 932 -3 -1 -2
EA&=TH 155 410 168 242 -1 0 -1
EAWMTH 138 249 117 132 0 0 0
EAETH 370 965 464 501 -1 -2 1
kR / F 500 1,232 543 689 -4 -3 -1
BEEF—TH 284 622 293 329 -8 -1 -1
WEEF_TH 241 574 258 316 -3 -2 -1
WEE=TH 187 396 185 211 -2 -2 0
WBEEFLMTH 100 250 102 148 -1 0 -1
A AB—TH 214 470 216 254 3 -3 6
WM AHB=-TH 164 400 184 216 1 0 1
WAAB=TH 220 589 239 350 -3 -1 -2
WA AHBmTAE 136 401 174 227 -1 -3 2
WMAABETH 600 1, 480 695 785 6 0 6
B o #h i 9,926 24, 330 11, 380 12, 950 2 -8 10
[E#—TH 418 1,269 587 682 5 -1 6
E#g_—TH 492 1,170 565 605 -4 -2 -2
E#%=TH 7125 1,625 758 867 -5 -3 -2
E#rm T B 326 746 37 375 0 -1 1
E#ATH 396 1,005 475 530 3 1 2
B o - E 2,389 5,786 2,743 3,043 -2 0 -2
fE—TH 479 1,126 510 616 -6 -3 -3
% E_TH 388 960 448 512 -3 -1 -2
mEHE=TH 261 654 304 350 6 -1 7
mA#EENTH 426 1,060 485 575 5 1 4
tEBHEERE—TH 8 26 11 15 0 0 0
tEBAHEER-TH 442 1,048 474 574 -5 0 -5
tEBHEER=TH 478 1,215 550 665 -1 2 -9
tEBAHEEREMTH 483 1,152 513 639 3 -1 4
tEBAHEERRATH 267 683 326 357 1 0 1
EmB—TH 700 1,807 844 963 10 2 8
EBR_-TH 445 1,070 521 549 -4 -1 -3
tBHE—TH 443 1,052 498 554 2 0 2
tEBAHEZTH 360 876 397 479 3 0 3
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FEOR O = 14,087 33, 632 16, 001 17, 631 -35 -18 -17
#E—TH 352 837 405 432 0 -2 2
w’E_-TH 817 2,050 981 1,069 0 -3 3
#E=TH 562 1,362 626 736 4 -1 5
R#EOTH 320 728 327 401 1 0 1
#ERTH 382 773 364 409 -3 -2 -1
i =) 245 503 264 239 3 1 2
FHN—TH 451 1,073 529 544 -3 1 -4
= i = 487 1,149 509 640 1 -1 2
FH9=TH 389 996 430 566 -1 -2 1
F 4 297 575 284 291 -4 -1 -3
1] % 2,304 5,404 2,683 2,721 -10 0 -10
t B E 787 1,871 872 999 -12 0 -12
FL—TH 281 694 339 355 0 0 0
FILZTH 452 1, 151 545 606 -6 -1 -5
FIR=TH 319 810 400 410 -5 0 -5
FLEMTH 566 1,444 705 739 3 0 3
FLAETH 192 399 199 200 0 0 0
FILATH 96 211 108 103 1 0 1
F i 41 90 37 53 -1 -1 0
HEH—TH 182 416 199 217 1 0 1
HH_-TH 3717 9IM 458 483 -3 -1 -2
HEHA=TH 815 1,966 959 1,007 3 -1 4
HHMTH 344 825 401 424 1 0 1
EARATH 607 1,522 703 819 -4 -1 -3
HHNTH 199 483 220 263 5 0 5
4] H 0 0 0 0 0 0 0
= i 1,376 3,289 1,525 1,764 -6 0 -6
#wEL—TH 219 531 238 293 -3 0 -3
#HEIL—-_TH 237 589 268 321 -2 -1 -1
HEIL=TH 251 604 271 327 1 -1 2
#HEILMTH 140 346 146 200 4 -1 5
X M #h = 19, 054 42,734 20,573 22,161 13 -9 22
b/ A 1,687 3,784 1,790 1,994 i -4 11
5Z-TH 771 1,369 705 664 -4 -4 0
£=TH 666 1,508 707 801 -10 0 -10
EMTH 700 1,610 786 824 -1 0 -1
EETH 1,108 2,776 1, 369 1, 407 5 1 4
a 868 2,019 945 1,074 -2 -1 -1
INEA—TH 563 1,023 530 493 2 0 2
INERZTH 921 1, 981 987 994 3 -2 5
I BB 38 102 51 51 0 0 0
RKw—TH 298 526 250 276 7 0 7
KHW=—TH 894 1,540 751 789 -3 2 -5
KMW=TH 553 1,127 530 597 0 1 -1
KM@ TH 720 1,564 749 815 -6 0 -6
KMETH 792 1,744 835 909 6 1 5
RKMWATH 532 1,109 534 575 1 -1 2
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X fia 1,330 3,207 1, 541 1, 666 10 0 10
=) 52 310 879 416 463 7 1 6
A#—TH 1, 621 3,725 1,798 1,927 -13 -1 -12
= ] 1,893 4 349 2,128 2,221 14 3 11
SR—TH 193 478 224 254 4 1 3
SR°"TH 334 886 400 486 -1 0 -1
SR=TH 239 570 282 288 -2 0 -2
SEROETH X X X X 0 0 0
SRAETH 0 0 0 0 0 0 0
SRE—TH 296 766 362 404 -2 0 -2
SRE-TH 206 486 235 251 0 -1 1
SRE=TEH 235 556 248 308 -2 0 -2
SREMTH 426 1, 031 474 557 -3 -2 -1
SREERETH 163 413 188 225 0 0 0
SREBENTH 336 761 357 404 3 -2 5
SREETH 361 845 401 444 -1 -1 0
E # th = 10, 040 24, 847 11, 891 12, 956 2 -4 6
&5—TH 385 791 397 394 2 0 2
fA—TH 639 1,356 665 691 4 1 3
BAAZTH 728 1,513 704 809 2 2 0
£ PN 1,798 4, 564 2,138 2,426 -15 -7 -8
E#—TH 622 1,355 656 699 1 2 -1
E#H_TH 685 1,684 805 879 6 -3 9
EH=TH 230 569 279 290 8 0 8
E#EMOUTH 223 661 311 350 -3 0 -3
EHEATH 442 1,131 543 588 -2 -1 -1
HE X 2,188 5, 506 2,692 2,814 -4 0 -4
177 (o] 1, 407 3,792 1,797 1,995 3 1 2
E3] = 693 1,925 904 1,021 1 -1
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